1.

2y? — {—y(y — 4) + 4} & tEo] 3t 2o A 2 2}5}9]

ATE a, 1 AFY] AFE b, F5d= c =2 T 1,

a+b—c 9 & ool (A4 2, stst ]
> =

> NE:3

> Hg: 3

B

(F4)
=2y — (- + 4 +4)
=3y —4y—4

a+b—c=3—-4—(—-4)=3

P 2, st ]

@® a® +a' =at

[ 2, stst]
® -3z +x+2 @ 322 -2 -2
®)-3z%+x—2 @ —2%+3z-2
® 322 —-x+10
2 — {42® + 2 — (22 - 2)}
:xz—(4m2+x—2x—|—2)
:xg—(4m2—x+2)
=2 -4z’ +2-2
=32 +x-2
0g F 8e AL CEPEES
ab ab
®atbxe=" @ax(bfc)—?
@(a+b)—c:a—c @(a+b)xc:§
b a
ab
+(b+c)=—
® a+(b=c) ;
a
shxe) =2
Da=+(bxc) b
@(a+b)+c=2—%
@(a+b)XC:?
@a+(b+c):%c




[H13 2, Sh5 ]

@ (22y5)4 = 28y

® (a?b)? +a? = a*v?

D35+92=35+(32)2=3

6. g ook ge e

3

O+ (-3a0?)° = o5 (M1 2, 815 ]
® 9abb* @ 6a%b? (@)—9@61)4
@ —6a3b? ® 6ab?

o[ Jetell Bolz gte S8 AR vt
727
(29" = (=) < () = (=727
4 2, 35 ]
D 2,4,3 @ 3,4,3 ®)2, 7,2
@ 2,5, 3 ® 3,4,5

(2y?)? + (—ay®) x (Ta%y) = (=T2%)?)

Q% p o] E4 ),
(_1)n+1 _ (_1)n+2 _ (_1)2n _ (_1)2n+1 _04 %}1\—_% :[L
shl? 1 3, 51 ]

@ o @1 3)2 @ 3 ® 4

_1)"+1 _ (_1)n+2 _ (_1)2n o (_1)2n+1




9. a3b? x adb® = a2 A o, D?l’oﬂ Ao 5 A

22220 (14 3, SH%
D 15,12 @8,8 ® 9,7
@ 5,11 ® 11,7

B ~

a®b? x a®b% = a3 x b2 x a® x b°
=a3 xa’® x b x b8

— g3+5 x p2t6

— a8b8

10. 5 a2 c
(-22) = 22w atbred e

yz y-z
[HHA 3,

[¢]

FAY

@ 11 @12 ©® 13 @14 ® 15
$10Z2a ¢

6—2a=2 .a=2

20=4 - b=2

c=10

Sa+b+c=14

11. A=32d of, 985 AE AHgote] e

|

[¢]

[ 3, sHE

O A5 @ AS ® A°

@ A7 @A8

98 = 316 = (32)80]mE ASo|r},

@ 2 +2°=0
@ 22 x a3 x a2t =28
® (23y2)* = 2120
3
o) -2
) =

@ (.ZA)Q X (x3)2 — x15

B

[ 3,

ol
-

A}

D1

@

@ £12y8
@ 1,14




14.

15.

2\ b
(~2029)"x (- L) = 2uty” A0t b o &
xr

¥ 3, S5t

@® 4 ® 6 @ 7 ® 8

@)s

S zty" T AS7t -2 0]BE o> b O],
a,b % Shiwr 8% y7 o]B 2

a=3,b=2

sa+b=5

i
o
d
o
me
o,
)
o

R
N
ofl
ooy Tl
A g L
5

Ho Ho

o e

u e @
>
)
oglh
1o

lo g -
o
N
N
W
=
e
kl
\|

& WMol olzt 20 2he O

N
-

e ro, &
o
> N
= M= -
N
odll
1o

H
©

A2
i o

hlkﬁ@ﬂgrrﬂma_ﬂ
N
-
&
o
o
@
_k;_l‘

)
rr

d
—_
rO
>,
-

oli
—
2
I

(Bl 3, &3}

I

0
g

- 20y

v V. V

0
o

. 20y

16.

17.

B

AgwA o] Hul= (712)x (A&)x (&°]) o]t}
@9] H1] = (42)? x by = 80x2y

©9] 21 = (22)2 x (£°]) = 422 x (&°]) 0|22
8022y = 422 x (¥=°])

- (3=l = 20y

(B4 3, S5t ]

276 3P 36

O P O%p
3P 3ax®
Y ® %

1
3223 x (22)% + (—2y?)3 = 32%y3 x o x o
6
=3 oz @ g
Sy3

® 422 — bx — 422




B )

@ (1-3z+22%) —2(z2 -4z + 1)
=1—-3z+22% — 222 +8x — 2
=br—1
= A4S SHH o] 2} AAH

@(%xQ—l—x—l) ( 1—4x + x)

1 1
=gx2+x—1+1+4x—5m2
= bz

= A4t A ol kefo] A7,

©) % —r+1

2 o)xtapol o] 91002 o]2h4jo] ohict,
@ z(4r —2)+5=42? -2z +5 = o|AtAo|t},
® 422 — bx — 422 = -5z

- AREE oh o)Al AATL,

25b% 3 3 10a
4a8 * I:I % 50267 O
3 10 4a®  5a®b’
T Cont * T3
— a9b3

19. 3 = A5t & o, o5 5 9% + 97 9] Fhp 2 A2
A 4, %]
@ A4 @ A? ® A3
1 1
3 D5
1 1 1 1
3 7:—: = ——=—0
97 =9 94 (32)4 (34)2 A2 ]q-'
20. thg A2 el o)
2 3 1 3
(—§a2b—|— A—lab—éabQ)—(—iab) [HH;S] 4, %’Z‘Z)—]
1 1 1 2 1 1
@50,—14—5[) ®§a—§+§b
4 1 1 1 1 1
(@)ga—§+§b @50—54—5()
1 1 1
@ §a—§+§b
2 5 3 1 5 . _3
( §a2b+ Zag iai)) = ( 2ab;
—(_Z.2 “ab — Zah2 _
= 39 b+4ab 2ab)><( 3ab)
—il _14_1[)
9" 7273




